~ TR T *i-:'\."'!'*FL_ —— e g mor e
-i,f‘ saELl ."*'!'? h P H -, 1 fl--_. e [ B : B = _:: ) -|-..-" 2 ._ll'a..r {_—.. B I,.l-! i -:“ ¢
g1 I | ) -..--,--- ) 5 4l . o

ACE ﬂim#“ﬁ 1“5 NISS T

- A RS LIREOOIL
....l....r_.L'!'lI-’l .\'_-'I-.E_.. ..jrr 3

01. 800kgm™ ¥y 8 10™*m P& qaf> (o1 #HT 1.5kgm =3 T @ 1.85 X 10-5NSm~2 AT QNI I
Ty AT “ete TR e @t vo?

(a) 1.14 X 10~*m/s (b) 0.94m/s (c) 9.4m/s (d) 94m/s (e) 800m/s
THE: (b); ve = i—': (ps — pp)g = 0.94ms ™1
02. Cwe @R 7 1% T, T8 (s e 7o s «1Ref¥e 2@y

(a) 433s 97 & AT (b) 433s Ty FAII (c) 216s 3o I it
(d) 216s > 33 AT (e) 3w WS Qe

. T 99 e [99 2x86400 _ 99 .
e (a); T oc L z ~ 100 L = 1unxz:354un+n_ 100 <2 =N~ 433

03. 40cm ==1 @3C K 4.2kg S+ Q=T B B 4T WiTg | 9T T I M <GB AR AT QR | AR
FFEE $6?7 1m ST =7 0.32gm |

(a) 498Hz (b) 628Hz (c) 448Hz (d) 425Hz (e) 480Hz
s 1 4.20x9.8 X
TAN: (c); £ = 2%x40x10~2 \/0.32:-:10‘3 Hz =~ 4481z
04.  137°C Srerarn e e “HfFarer «7mr 201 P 20 5 oo WHew @S 397 | FOle STl T 3037 [y = 14]
(a) —215°C (b) —137°C (c) —58°C (d) 58°C (e) 137°C
-1
T (0 TV = TV T = T, =T x (2) = 215375K ~ —58°C (am)
2
05. @3 3t (Carnot) & 27°C @< 180°C Seiwam oy <1da® | 3o o1 BT @ 8.6 X 10%] sro azet 93 |
e wrr SNfore e« e
(a) 1687] (b) 25.79K] (c) 29.05k] (d) 2.9 x 109] (e) 2.55 x 10°]
A (c); 3* =25 Q, =20 x 8.6 X 10 = 56953.6] . W = Q, — Q, = 29.05k]
1 1 =

06. 1.6 X 107°C a== 2.8 X 107°C vref wft R+ o1 2@ =s 12cm T W1Ee | 1.6 X 1076C s siegarsy
TR (@I e Sfr (Ftam S=Re =07 712

(a) 4.37cm (b) 0.21m (c) 0.068m (d) 5.17cm (e) 7.2cm

e 12— 2.8x1076
(d) (1:11:]2 T x - = Ji.ﬁxlu‘ﬁ = X =5.166cm

07. wﬁ?{ﬁ@wﬂ Y —1.6eV *If& 91g (AT —3.8eV WG WG (T (FIBF HERe T BIF T8 TS 37
(2) 5.31 X 10'*Hz (b) 4.59 X 10'*Hz (c) 2.46 X 10'Hz (d) 6.54 X 101*Hz (e) 14.48 x 10®Hz

—-19
STARI: (a); AE = hy = v = BE-LOXLEXI07H () o231 o 1014 Hy

6.63x10~34
08. cfeurcr Wiy 1620 327 | ¥ @ 1gm GG (A 10 GIRBaIT 5 2037
(a) 4.28 x 10~%y  (b) 8.99y (c) 23.7y (d) 246.21y (e) 4120y

]nz

T (d); M = Moe™ = (1 -10 % 1072) = 1 x e 1620"" = t = 246.21y
09. M oeR Teoifre oS #ifem wffmms a2t 6.8 x 101 kWh | Fifi® sz w32

(a) 22kg (b) 27.2kg (c) 26.8kg (d) 27kg (e) 28.4 x 103gm
T (b); E=mc? = 6.8x 10 x3.6x 10 =m x (3x 108)2 = m = 27.2kg

I ER | > {5
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

%37 AP 6.4 X 10°m tﬂﬁﬁﬂﬁﬂ‘éﬁﬁ‘f 9.8ms~2% | G-® T 6.4 X IO?m Twein WiSTdE $ard WIF F©?
(a) —186.2ms™%  (b) —9.8ms™? (c) 0.081ms~?  (d) 8.05ms™? (e) 9.8ms ™2

R? -
TAYA: (c); = = T = =g’ = 0.081ms™?

a3 T 2T G FieE 6.9km, B2 Ty F97 [G = 6.67 X 1071 Nm?kg ]
(a) 4.6 X 1018kg. m™3 (b) 4.66 x 101%kg/m? (c) 5.1 x 10?1g.cm™3
(d) 3.38 x 1018kg.m™3 (e) 4.2 X 1021g/cm3

GM M M
sr: (d); R = 25 = M = 4.653 X 103%kg = p =7 =3

E‘ITR:;
freTee 2aEd 11.6mA #fIST s 2_zd 10.92mA +ff3es 917 | B aF TF F9?
(a) 19 (b) 18 (c) 16 (d) 13 (e) 15
Al 10.92

AT (c); B = Alg 11.5—.10.92 =16

3B TR fEe e W3 W@ A = (31 +§ — 2k)m e B = (21 - ) — k)m | smrefices cwawe e
(a) 5.92m? (b) 2.76m? (c) 10.39m? (d) 2.96m? (e) 2.56m?

g (a); |A .
SR S 30° @I @ G- (AT 50m/s QU 6 RIS ZE | 0T 60m T YT MSAENT TS THOM
TS FAE? [g = 9.8m/s?%] |

(a) 13.65m (b) 25.23m (c) 15.825m (d) 36.24cm (€) 29.94m
ST: (b): Y = xtano — —&— = 60tan30° — —2X%_ _ 25233
+(b); Y = xtana 2vZcosla an 2%502Xcos230° : .

45kg @R 65kg S 7S I TUEE 12m/s @R 2.5m/s @Ot = ReRIe fre SEm 7w arF e ¢@ T e |
P17 7 I 9 T& (AT I (@0 BFLA?

(a) 3.43m/s (b) 2.82m (c) 6.39m/s (d) 4 cm/s () 6.07 m/s

Y: (a); 45 X 12 — 65 X 2.5 = (45 + 65) X v=>v = 3.43ms™"

=5 3few 5 FfE T @ 10,000 FER A 10m 1o SHew gere =ina | Xfemha w1t 70% T 0T 9 Y
FAS! (FH0? :

(a) 3.35hp (b) 3.07hp (c) 3.65hp (d) 4.38hp (€) 6.25hp

100 _ 10,000x9.8x10
AR (e); Fin = 70 T 5x60x746 hp = 6.25hp

10cm I @36 2R @oE 108 719 wies @ e w4t gt | ars fEsfmr se a=ive e
A o™ = 0.55Nm™" |

(a) 1073] (b) 6.84 x 1073] (c) 68.39 x 107°] (d) 0.684] (e) 6.84]
sy (e); W = 4n(Nr?2 — R?)T = 6.84] ;r =

R
3100
@ ZAT ST (ATF A1 SRere st «3fB A I I 4 o T I JF TP IENGEE B WSI[{E IRparEd
BITHE ST R IR N TRee! $3@ TEa TOITe! F97 [FpTits A 5= 101325Pa]
(a) 72.4m (b) 289.6m (c) 580m (d) 651.4m (e) 950m
srg: (d); PV, = P,V, = P, X 43 = (P, + hpg) X 1 = h = 651.4m
2m Y yw I e A dne 10kg ©F I @9 g 0.6mm I | OIEE SAMIGE W @AT 2 X
101 INm %z iz Irid @@= ?

(a) 1.28mm (b) 0.52mm (c) 0.06cm (d) 0.84cm (e) 0.72mm
_ FL 2 — mgl _
AAHE: (e); A = =TT ~ = Y= 0.72mm




(2) 50% (b) 40% (c) 30% (d) 20% (e) 10%

T (d); - X 100% = o X 100% = =2 x 100% = 20%
E
21. 6Ucm?ﬁﬁf10cma’5cﬂaa15[}wﬁﬁ§aﬁmﬂwﬁgﬁawﬁwzmwﬁmmm ISR 15T @7 Juy
RET (LA ANISAICT FAT A0 971 ToF fFumie € 7 e o0 212

()2700N—m  ())1800N—m (c)900N—m  (d)450N—m () 400N — m
TAYS: (a); T = NIAB = 2700N — m

22. @ GBI BRI 110V 9= ¥2x GTEASATS 2.5A @TZ NG (7 | GEPANTR % T FHS 1: 22
A JHATIIR0T @ T 17

(a) 6000VA (b) 5.5kVA (c) 6.05kVA (d) 10kVA (€) 12.5VA
FA: (c); 2 = 2 = E = (110 X 22)V - Rating = E,, = 6050V = 6.05KV

23. @b BT I 92 T ISR JPIE T 15cm @32 25¢m | CTT FRET @Y 18cm X 93 SomieTE
eifSs1arE T a7

(a) 1.5 (b) 1.53 (c) 1.48 (d) 1.62 (&) 1.52
(i1 = =D (- 7) 2 5= (- 1D (5 +2) = p=152

24, aﬁmﬁawﬁwmwﬂmwww lcm 8 2.5cm 93R qq T4l 799 12cm |
SISTHT CTF TS 07 IE T I WO RF 25cm A G e w1 S 2042
(a) 15.83cm (b) 14.27cm (c) 9.73cm (d) 0.15cm (e) 0.12m

FHYE: (No correct answer); : +v1 = RN u; = 2.27cm ~ vy =12 —u, = 9.73cm
- 2 e

LICIER -—+—-—l “U; = 1.11cm

u; vy fp

25. a2 FEER @7 93 g v woeT 43w 58964 ST AT ST (IR AT ZET | SR LA G SoqET
@ S 3?2 FrEa @Y 0.18mm |

(a) 0.17° (b) 11'16" (c) 0.15° (d) 13'20" (€)9'17"
Jo4E: (b); asin@ =nA -~ 0 =11'16"

%

26. it @b o efSTBIw 150 mg &= 27w | &S Gics Mafe (T T @ ITe= Wy FE 7w
(8) 1.395 x 10*°  (b) 1.395 x 106 (c) 1.395 X 1017 (d) 1.395 x 1018 (e) 1.395 x 101°

IEUKIU_ 23 18
TqHYE: (d); N TBx3E00 X 6.023 x 10%° = 1.394-x 10

27.  10%(w/w) NaOH @9 &@w garst NaOH @R #Mifear e Spjrest Tz qeiiarcy o 2737
(a) 0.0325, 0.9675 (b) 0.9675, 0.0325 (c) 0.0476, 0.9524 (d) 0.9524, 0.0476 (e) 0.0556 . 09444

1'.'] QD

FAAIYI: (C) XNaDH -——'—— 0.0476 S XH 0= 1{: g.u = 0.9524
E g 20 18
28. e @i R 22gs $we G s 967 [Ans: d]
(a) 2CO; + 0, + 4e - 2C02- (b) O, + 4H* + 4e - 2H,0 (c) 2H, = 4H* + 2¢
(d) 70, + H;0 + 2e — 20H" (¢) H, + 20H™ - 2H,0 + 2e
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(1) Cl, =1
(11) H, =01
(i) O, =TT
(iv) NaOH(aq)
(a) i, i (b) i, ii (©) i, iv (d) i, iv (e) i, i, iv
ST (€); d, 1 @ iV |
30. o3 o e ciew emf 99 T IWEW EL B, E;
(D Zn|Zn?* (1M)]| Cu?*(0.1M)|Cu
(1) Zn|Zn%* (1M)|| Cu?* (1M)|Cu
(11D Zn|Zn%* (0.1M)|| Cu®*(1M)|Cu
wrRte e e i
(@)E, >E, >E; (b)Es>E,>E; ()E;>E;>E; (d)E3>E; >E; (e)Ez >E; >E;

z Z+
AY: (b), E3 > Ez > El; EEE“ — Eﬂ _—l [Czﬁquﬂgl

31. ow BT CETST T o (oSt RreTIN R ' [Ans: d]
(a) IO (b) TSI (c) - T (d) TrEgrEds () F21- «fie
32. Meoe faferace Seom IV a3 ammfe Juaee I 317

P/l KCN(al 2H,0/H* LiAlH
CH,0H 223 1 KM@ 20 1 2 Sy

(a) CH;CHO (b) CH;CH,0H  (c) CH;COOH  (d) CH3CH,CH,OH (e) CH3CH,COOH

P/l, KCN LiAlH,
g (b); CH;OH — CH;1 — CH3CN — CH3COOH —— C,H5OH

33, 250mL 2.0 M HNO, 2¥S F4re ¥ A1 5 ARGe affe amie? aftes ey 2@ 70% HNO; |

(a)45.0g (b)315¢g (c)63.0g (d) 126.5¢g (e) 15.8g
SMV  2x250x(1+14+48
TR (0); W= To00 = : 1E:mu = 31.5g

34, 2A + B — C ffFm C a9wa 29 2.2 X 1073 mol. L~ min~2 a:m—%‘”‘—] a7 T TS

(a) 2.2 X 1073 (b) 1.0 X 1073 (c)1.1x 1073 (d) 2.4 x 10~* (e) 4.4 X 1073

s (e); S = — Al _ 5o x 1032 = 22x 1073 x2=14.4x10"3
dt 2dt dt )

35. 3feerm e ofeware fTeg 2eE-
K*|K = —2.93V;Ag*|Ag = 0.80V; Hg?*|Hg = 0.79V; Mg?* /Mg = —2.37V; Cr**|Cr = —0.74V
T TANGTIZ &WE YIRS GRS FASIT THET TP ATENS | [Ans: c]
(a) K™K < Mg2*|Mg < Cr3*|Cr < Hg**|Hg < Ag™|Ag
(b) Ag*|Ag < Hg?*|Hg < Cr3*|Cr < K*|K < Mg**|Mg
(c)Ag < Hg<Cr<Mg<K
(d) K< Mg < Cr < Hg < Ag
(e) K*|K < Ag*|Ag < Mg?*|Mg < Hg?*|Hg < Cr3*|Cr




36.

37.

38.

39.

40.

4].

42.

43,

44,

; n i} 3_:-‘51-:::13’ . KUET, CUET, RUET &4 3 A4

a6 CNTeTa g Rt == 152252213*5352313 | en=oa 6.24078 X 10-23g G TS R WR?
(a) 1 (b) 1.02391 x 1023 (c) 1.64067 x 1047

(d) 18 (e) 639

TYE: (d);Imol Clau e™ = 17 X 6.023 X 1023 B e~

35gClyue™ =17 x 6.023 x 1023

—-23 —-23
6 24078 % 10_23g ge- = 17X6.023x10 353':55 .24078x10 _ 18 m_e

@3 IS QA 1.0g 93 100.0cm? wresfifes Fies far =ifF @t 3 up to the markww|mwaﬁﬁz
fecerae 0 orar o gRefbw we@r 0.1M 1 aifoe s fdfy a9 | (9= =]

(a) (CH3),CO4 (b) Na,COg (c) SrCO4 (d) MgCO, (e) CaCOg4

FA: (€); M = ——— = 100(Mcaco, = 100) |

S FAT TOICAH &) Ao (I ~irafs Tew za? | [Ans: d]
(a) A (b) s T FrE (c) orebresit 1% (d) CoireTea FrE (€) IRt e |
AT ARG ToN@a Gore Ifi- [Ans: d]

(1) RIS QTFCAI FHAH T, S G0 7& T

(1) QTS GIFTETT T TH, O {0 STE T

(iii) TRISE SIFER @ T, ST 500 wuzfre 31

(iv) BRISH QTFCER (A 2F, S HI SoT% @ wysig 31

Aea @G Ade?

(a) i, ii (b) i, i, iv () ii, iii (d) i, i, iii (e) i, ii, iv

180 @ &3 &7 15.9949 amu T &S Fefmmma a5 S MeV v 7@ 272 [FG, (oo © e S9 T
1.0086,1.0078 92 0.00054amul]

(a) 12 (b) 10 (c) 8 (d) 6 (e) 4
SATY: (G); ﬂmbi';31.5 < (E3{1.DUEE+BK1.0328—15.9949]?{931.5 - 8

436 @ tF 1000 mL 7@ A1 sz 3@ o7 COD fefrag &5 DO “Afeist e fiey ot ¢ 50 mL T A
&1 0.015 N Na,S,0; &3tsw 10mL Feitg | @ w1 #nfqrs H,S0, @ K,Cr,0, @t 33@ 3 9961 =7 <@ DO

fefw ware Fitr ot eoter @3 50mL =@ = 0.15N Na, S, 05 537 3.5 mL o | @ Tt =nfig COD et 34 |

(a) 15.6ppm (b) 17.6ppm (c) 19.6ppm (d) 21.6ppm (e) 23.6ppm

STH: (a); COD = Inxu.ulsxﬂgun.uis.xa.s:{ﬂ x 1000 = 15.6 ppm .

ANHR @ APIBTS Feeaerier m 3G w0y [Ans: c]
(a) C2Hy (b) C;Hg (c) CeHe (d) C3Hg (e) C;H;

AT Aoa @1 Jifod pH A @

(a) 7o MSO, & (b) — NaCl &t (c)%FeClgm (d) 15 Na,CO5 &t (€) 7o NH,, Cl &

Y (d); Na,CO5 aed | ©12 @3 pH *—esa G |

@ AT FET TR WHRE 20g FEOAN IO TG I Anem e ©f Foofare FhoF Grer A R 3@

CITSAT S Afers T2 Zem | [{ferare I +ffm 6o Giret earem =
(a) 25g (b) 16g (c) 12g (d) 30g (e) 20g

A
REIRICE (b), CHC03 - Ca0 + COE . COZ + 2NaOH - NﬂzCOg + HEO
100g CaCO; = 80g NaOH
: 20g CaCO; = 16g NaOH
SRS )




T ) o 3

45. (I)C,H, (n)czH2 (IINCgHy (IV)C2H5 (V) C¢HsCl
T APPTR C — C 5 CAeHa SYgery 4o zo- [Ans: b]
@IV>V>II>1>11 GIVSIHI>V>I>II
@QIU>I>NII>V>IV (I>I>V>HI>IV
@IV>I>1>V>I '

46. C,Hg Gl TOGTA SRGINGT 16+ 78? [Ans: d]
(a) 2 (b) 3 (c)4 (d)5 1 (e) 6

47. @A IHETTAZ ZCEl- | [Ans: d]
(a) 60 + 13 (b) 60 + 6™ (c) 60 + 3T (d) 120 + 3m (e) 120+ 6m

48. 700K @@ N,(g) + 0,(g) = 2NO(g) Rfeme smmre K. @3 s 0.06251 700K srmm@m NO(g) S
%Nz(g) +%02(g) ffeFaz K. @3 w19 7 732

(a) 0.03125 (b) 0.25 (c)3.9x 1073 (d) 0.375 (e) 4
" e 1 —
W‘TH-(E),KCE—E—‘@ |
49. X @R Y 7 w@w 53t pOH @3 19 @ 8 @3z 11 1 X @R Y It H3 O SR A5T9d WHire I© a7
(a) 1:1.0x 10°* (b) 2:1 (c)1.0x10%:1 (d)1:1.0x10% (e)1.0x10%:1
10~ 1
AITT: (a); 10-3 103
50. CrOg @3 *ifs Ja® | @ @t Cr 9F SR T 67 [Ans: c]
(a) 4 (b) 5 (c) 6 (d) 10 (e) 0
51. Find out the correct conversion of the sentence — 'Had I the wings of a bird!" into an Assertive. [Ans: e]
(a) If I had the wings of a bird. (b) I wish to have the wings of a bird.

(c) I pray, I had the wings of a bird. (d) I had the wings of a bird
(e) I wish, I had the wings of a bird. )
52. Find out the correct simple sentence of ¢ Jesmin went to the garden and saw a red rose’. [Ans:d]
(a) A red rose was seen by Jesmin going into the garden.
(b) Jesmin saw a red rose going into the garden .
(c) Jesmin went to the garden to see a read rose.
(d) Going to the garden Jesmin saw a red rose.
(e) While Jesmine went to the garden saw a red rose.

53. Which one is the correct form of the verb ‘hear’ in the blank space of the sentence? I opened the door as

soonas 1 _ the bell.’ [Ans: e]
(a) Have heard (b) was hearing  (c) hear (d) have been heard (¢) heard

54. Which.one is the correct ‘One-word substitution’ of the words: ‘A song embodying religious and sacred
emotions’. [Ans: €]
(a) Lyric (b) Ode (c) Ballad (d) Ballade (e) Hymn

55. Select a suitable word to fill in the blank of the sentence- ‘Do not be idle, you come to poverty.'
(a) otherwise (b) or (c) lest (d) unless (e) avoiding [Ans: a]

—”1—:‘1.3 ] { -l
B R ¢ L
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[Read the passage below and mention the most appropriate answer to the question Nos. 56 and 57.]
Providing enough energy to meet an ever- increasing demand is one of the gravest problems the world now
facing. Energy is the key to an industrialized economy which calls for a doubling of electrical output every
ten to twelve years. Meanwhile, the day’s cheap, abundant and environmentally acceptable power may be
coming to an end. Coal is plentiful but polluting, natural gas is scare, and oil is not found everywhere,
Nuclear power now appears costly and risky. In many countries of the world, keen interest is bein g shown
In new energy sources. Among the familiar but largely undeveloped sources; solar energy, thermal energy
and energy from ocean deserve special consideration. Scientists are working to find ways to tap the energy
from ocean and sun. If they are fully successful, it will mean that we have an abundant and uninterrupted
supply of cheap energy. This energy will be clean and will not contribute to environmental pollution.

56. What is the gravest problem the world now facing? [Ans: a]
(a) Providing enough energy (b) Risk of energy Sources
(c) Environment pollution (d) Scare of natural gas (e) Cost of energy

57. Which energies are clean and abundant? [Ans: b]
(a) Nuclear and coal (b) Solar and oceanic (c¢) Wind and coal
(d) Gas and oil (e) Coal and solar

58.  Which one of the followings is the correct indirect speech of ‘Avi said,’” “Hello Supti, how are you”? [Ans: €]
(a) Avi asked Supti how she was. (b) Avi asked Supti if she was well.
(c) Avi asked and greeted Supti how she was. (d) Avi greeted Supti to ask her how she was.

(e) An greeted Supti and asked her how she was.
59. Which one is the correct form of the verb within the bracket in the sentence — 'If I were you, I (handle) the

situation more carefully!' [Ans: c]
(a) handled (b) would have handle (c) would handle
(d) shall handle (e) should handle

60. Which one of the followings is the correct tag question for 'He scarcely comes here, iy [Ans: b]
(a) Doesn’t he (b) does he (c) did he (d) didn’t he (e) isn’t he

61. Which one of the following words is singular? [Ans: c]
(a) Criteria (b) Issues (c) Physics (d) Media (e) Pains

62. Find out the correct comparative degree sentence of- 'Anik is one of the tallest boys in the class." [Ans: c]
(a) Anik is taller than all other boys in the class. (b) Anik is taller than other boys in the class.

/ (c) Anik is taller than most other boys in the class. (d) No other boy in the class is as tall as Anik.

(e) Anik is more tall than all other boys in the class.

63. ‘I went there and found him reading.” What kind of sentence it is? [Ans: c]
(a) Simple (b) Complex (¢) Compound (d) Multiple (e) Double

64. ' The sinners suffer in the long run’. What kind of phrase is the group of words-‘in the long run’? [Ans: b]
(a) Noun phrase (b) Adverb phrase (c) Adjective phrase
(d) Preposition phrase (e) Conjunction phrase

65. Select the proper word.to fill in the blank of the sentence —Every year the Nobel Prize is awarded for
to the field of literature. [Ans: d]

(a) invention (b) education (c) prestige (d) contribution  (e) fame
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66. Use correct word in the blank 5pac:e nf the sentence- 'This cnntract wﬂl bf: confirmed  December.'
[Ans: b]
(a) on (b) in (c) for (d) at (e) by
67. 'He looked at himself in the mirror.” What kind pronoun is ‘ himself’ in this sentence? [Ans: a]
(a) Reflexive (b) Emphatic (c) Distributive (d) Relative (e) Personal
68. Choose the appropriate gender for the blank space of the sentence- 'The  gave birth three puppies.'
| [Ans: b]
(a) Dog (b) Bitch (c) Cow (d) Pig (e) Cat
69. ‘Nobody knows where he lives.” Which one is the correct paésive form of this sentence? - [Ans: d]
(a) Where he lives in known to all. (b) He lives where is known to nobody
(¢) Where he lives 1s known to none. (d) Where he lives is known to nobody
(e) He lives where is known to everybody. _
70. Which one of the following words is antonym of ‘generous’? [Ans: d]
(a) Liberal (b) Noble (c) Bountiful (d) Mean (e) Unselfish
71. Which one of the following words has the same meaning of ‘Jeer’? [Ans: e]
(a) Joyful (b) Sportive (c) Gay (d) Jovial (e) Taunt |
72. Identify the correct sentence. [Ans: c]

(a) Which color you prefer, the red or the blue

(b) Which colour you prefer, the red or blue

(c¢) Which colour do you prefer, the red or the blue?
(d) Which colour you prefer more, the red or blue?

(e) Which color you prefer more, the red or the blue.

73. Find out the verb modifier for the underlined part of the sentences. [Ans: €]
(a) I saw him walking in the field. (b) I am absolutely happy.
(c) He always speaks the truth. (d) He runs very fast. (e) He behaves well.

74. Which is the correct Translation of — I % TG @S S [Ans: c]
(a) I desire I could go to Canada. (b) If I had gone to Chanada!

(c) Would that I could go to Canada!  (d) I wish I have gone to Canada.
(e) If I would go to Canada. |

75. Which one is the noun form of ‘Stupid’? ' [Ans: a]
(a) Stupidity (b) Idiot (c) Stupidness (d) Stupendous (e) Stupefy

76. WP = 4i— 2] + 4k oR Q = 4i — 2] — k 77, ORI P «RR Q TGIS 1T FAG?

@ cos™ (%37) (o) cos™ (E @cos (2Z)  @sin ! (2Z)  (¢) cos™ (22

63 63 63 63
AAYE: (a); cos (—;) = COS '1

77. WWW&WBJ}‘Z}{WWE ‘%)aﬁqﬁmﬁmmﬂﬁﬁﬁwﬁwmﬁﬁ

63

1 2 7
(a)y—;x,y—gx _(b)y—;x;y—gx (c)y—gx,y—-;x
7 1 1 3
(d)y=;x,y=ax . (f:)y=—x,y=gx
2
(d) = 2m,(+‘i.na)1’3TC!I"rﬁE =>m=- ; (—ve)ﬁmﬂi‘,::m=%:-y=%x*:3y=%x.

r N2 BT
___ [l _m SRS




KUET, CUET, RUET &Y 3 7 14

78. 4x® + 4y? — 6x + Oy — 13 = 0 Yt e TET (2, —3) e e ~pfces T el
(aA)x+y=6 (b)2x+y=12 (c)x+2y=5 (d2x—3y=13 (e)3x+4y=7
TANE: (d); 4xx; + 4yy; — 3(x +x4) +§(V +y1) =13 =0; (x1,y1) = (2,-3)

79. 16 T 93T crawrE i fagrem MR Tz T A(—4,6), B(—1, —2) @2 C (2, —2) T 2 99 T T7

(a) —1 (b) 2 (c) =3 (d) 4 (e) 3
. -4 6 1
W:(e);lEr:E -1 -2 1|=>a=3
a =2 1
80. Torafae ww ¢ Rrsfqes! qurercy 8 ﬂ%mmwwmwwwﬁww&ﬁ, 9T ToIgrad AT @S2
]{2 yz _ ﬁ F_E _ ]{2 },2 _ . 2'{2 FE _ x_z },2 .
(@) etz =1 (b)36+16-—1 (c)4+15—1 (d)32+54_1 (ﬂ)ﬁ4+ﬁ"1
, |
TIA: (e); 2 = 8 = b? = 4a
2
Ez=1-—-h—z=>1=1—4—:=>a=8=:~a = 64
d 2 |
2 _29 . X ¥ _
b® =32 . 6a T332
81. cosec(x —y) 97 I @FL? - [Ans: €]
_ . T _ sinx—siny secx.secy
(a) cosx —cosy  (b) sinx — siny (c)tanx —tany  (d) oakrcony (e) -
(3x+2)
82. Lmé (1+5x) x @I IF @02
(a)e (b) e (c) e’ (d) e'® (e) e

TR (d); lim (1 + 5%)%*% = 1 — lim |1+ 5x)§]

5x—-0

83. Wﬁ’iFﬁFﬂTﬂEP*E Q WieTa 526 e & 20N T1 P 93 frasar e STeaeret vl <0 | Q @ W 25 N X1 P @7
T @AG?

(a) 5 N (b) 15 N (c) 10 N (d)20 N (e) 25 N
TqYE: (b); P+ Qcosa=0=cosa = —Z—F;
Rz=202=P2+252+2.P.25(—i):>P=15N :

25

84. o 60 fo: f: @TT o8 @I GF QT AR 10 CITST T TYLZ (1 GO AN 27 | @ ST e
TRAF T FO? GO S TS LA AFTS @ LTI 71 T

5 250 3 250 7 150
(a);m/seaz,Tm (b)gm /SECZ,TIH (C)Em/SECZ,Tm
5 225 7 100
(d)>m/sec?, —-m (e) ;m/ sec?, —~-m
e (@) 2 = 2t = Sms2 s = Lx S x 102 = By
A 10 3 2% s RE
1 d?
85. Wy = —';fm,mrﬁ aF 7 FAG?
2Inx+3 2Inx-3 21nx+5 Elnx 3 2lnx+3
(a) 25 (b) 2 () (d) (e) 2
. (b): dy x%—lnx _1-Inx d?y _ X (‘;)—(1—1111}“21 _ —X=2x+2xInx _ -3x+2xInx _ 2fnx-3
alald )’E;_ x2 x2 'dx2 x4 - x4 - x4 X8
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86.

87.

88.

89.

90.

ol.

92.

93.

94.

39.2 fiota ©p nﬂmﬁ@mww 194m/5ec @TT aR 30°%ﬁ%c¢mnﬂ$ﬁaﬁ§t‘5 RS ZCET | I970 BEH AT
(AT TS T WGTrS WS F44?
(a) 32.5m (b) 65m (c) 6.63m (d) 637m (e) 98m

2

TqY: (b); —39.2 = xtan30° — . = x=~65m

2%19.42xcos? 30°

10 2tF 30 +FF T IO AW GIBE RS [rar 3 Ao cﬁrﬁwmﬂnws O &feT 26T WIS FRG?

(a) = (b) 5 (©) 57 &= OFn

6+5 _ 11
TN (€); 5 = 57

1,2,5,9,10, 15,17. 19, 21 simefes ones @Ho?

(a) 46.66 (b) 45.45 (c) 44.67 (d) 48.67 - (e) 47.67

FYIE: (d); use calculator

11 = #fies tafv sggat 50,30, 100, 25, 35, 50, 30, 25, 55, 60,80 5131 T, TGa 599F I (@027

(a) Tk. 10 (b) Tk. 12 (c) Tk. 15 (d) Tk. 13 (€) Tk. 20
TqYs: (c); 25, 25, 30, 30, 35, 50,50, 55,60,80,100
Q, = 11+1‘31r‘-’ﬁ 30,Q, = 50; Q4 = 60 - QEEQI — 15
I A = {a,b,c} 9 B = {1,0} T, 1 A (4= B (< {7 fSf o061 S «I1edl II? [Ans: a]
(a) 6 (b) 7 (c) 8 (d) 9 () 10
265 240 219
240 225 198|947 I @FHG?
219 198 181
(a) 11 (b) 9 (c)8 (d) 10 (e)0

THYIE: (e); Use Calculator )
k' @3 75 7% T (k% — 3)x?% + 3kx + (3k + 1) = 0 Firadfoa erafer s To1 2022

(a) 2,—1 (b) 3,—1 (c) 4,~1 (d) 1,4 (e) 1,3
-'fFTPq‘I'-T=(c),f:+1 =3k+1=k?®—-3=k?— 3k—4=0;k=4,:1

e SN 7 @ " TRIANGLE"” *sifo% ol 7o 30 SISt TR1?

(a) 33000 (b) 34000 (c) 35000 (d) 32000 (e) 36000

TYE: (e); 8! — 6! X 3! = 36000

16 foR A W2 65 e eoa G0 JIT AR A ¢ B 52 IfE I29 Fa08 | A 7 S[{IH AR 9@ 3o 2 o™
T G B 97 ST ARTAT WO ¥ (AF | o= 7 | AR 98 A 8 B @7 WYy {[Feig o =y

(a) 20 kg-wt and 45 kg-wt (b) 30 kg-wt and 35 kg-wt (c) 25-kg-wt and 40 kg-wt

(d) 15 kg-wt and 50 kg-wt (e) Skg —wt and 60 kg —wt.
2

wr:b); | ] les | -f—:=§=>P=35kg—wt:.Q=3{]kg—-m




95.

96.

97.

98.

99.

10 . |
(sz +5) @7 e x5 g x5 7 oI T T P 9T AIGE T @I

:{3

1 V3 V3 vz
(a) = (b ©2 (&)Z
FATYI: (E); Tr+1 — lﬂcr ] (2}{2)10—1' y (_E)r - lﬂcr i 211]—1' : ljr . XZD—Er

}:3

“20—-5r=5=2r=34aR20—-5r=15=r=1

— 10(:3'2?‘]33 — Iﬂcl_zgtp$p2=§:’p=%=§
tan~?! f_i 9T HEIE A (D ?
2 2 2 - 4

(a) X(1+4x) (b) x(1+4vx) (c) VX(1+4x) (d) VX(1+4x)
TAYE: (c); Let, 2vX = tana = a = tan~1 24X

_ -1 4\& _ -1 2tana o= -1 - . -1
y=tan ' ——= ——— - =tan™' tan 2a = 2a = 2tan™! 2v/x
, dy 2

Tdx  Vx(1+4x)
u=24+22 azde T @D

X 2—X
(a) 10 (b) 15 (c) 8 (d) 12
TA: (c); 5 = =5 + s =0=x=-11l:u=8

] = &3 T @HAG?

V(=2x2+4x+1)

(a) %sin_:l {\E (x — l)} (b) %sin"1 X
(d) -::cns"l(x + 1) (e) % cos }(x—1)
S (H); J- dx 1 dx dx

= Lot
J(—2x2+4x+1) ﬁ'r J_(xz _zx-|—:—11—1) ~ "'Ef J@)z-(x-l)z

Y

2

=L gin—1| X1 =2 sin~1d [2(x—
= Z=sin ; +c—ﬁ51n {J;(x 1)}+c

1 e*dx
?
1Ty A W A

(a) In(1 + e) (b)=In

1+2e
1+42e-1

HAYI: (b); using calculator.

100. 3 P(A) =3, P (B) = ; &R P (AU B) = . z0 v, P(A/B) 7 %I 77

(a) = (b) 72 © 5 (d) =

(©3In(1+2e) (d) ~In(1 - 2e)

(e)

3
(€) Vx(144x)

(€) 20

(c) %sin‘l(x + 1)

() zIn(1 + 3e)




